SAP ABAP table SFIPR DEFAULT {Default of an Attribute of a Version}

FIPR_PRODUCT

MANDT [CLNT (3)]

SFIPR DEFAULT-PRODINT = FIPR PRODUCT- PRODINT ~0..N |PRODINT [CHAR (18)]

-7 FIPR_PRODV
MANDT [CLNT (3)]
_____ SFIPR DEFAULT-VERSION = FIPR PRODV-VERSION 0N | RODINT [CHAR (18)]
o SFIPR DEFAULT-XACTIVE = FIPR PRODV-XACTIVE -
___________________________________ 0..N | VERSION [NUMC (3)]
o SFIPR DEFAULT-ATTRNO = FIPR VA-ATTRNO XACTIVE [CHAR (1)]
FIPR VA

~-o__ MANDT [CLNT (3)]

0..N | PRODINT [CHAR (18)]

VERSION [NUMC (3)]

XACTIVE [CHAR (1)]

ATTRNO [CHAR (16)]




